Air Cylinder

CG3 series
020, 025, 32, 940, 850, 63, 280, 3100

!

(]
[
=y

Compact with a new construction!
New release with full functions

Minimized with shorter; total length!

Space saving; contributes to downsizing of equipment. Up to

Up to 24

51 mm, JIIUN LGH el

[ M x
e || &
N || O

(=
(o)
=

(]
D
=g

129

:H

37 mm slwrter§

% CGIBN40-50F
CG3 = ol .

Female thread

=
o
—

H]
g
=
)

(BN ¥]
(- BIN"]
N || =

CG3 mre . @

Male thread “ B wew @i

CG1 { C61BH40-50 |
il —® .

Male thread — e i

CG3BN40-500] stroke

x| P
OO

Technical
Data



CG3 series

-
Female rod end available as standard
Applications expanded by making it possible to select
either male or female thread within the standard model.

@
LY
ﬁ Selectable

Male thread

%’ -
)

Female thread

2-color indicator solid state
auto switch mountable

Possible to confirm whether the position is
appropriate at a glance.
Increases effectiveness of adjustment time.

o
o

A -@r light lights up at the optimum operating range.
ON

Operating range OFF

{Red| Green {Red|

Optimum operating range

Total length minimized

* The new structure has reduced the total length.

* Up to 37 mm shorter than CG1 series, making
the product more compact.

* Integrated structure of head cover and tube

Comparison of the total length with CG1 series

20 | 27mm |

25 | 26mm |

32 |_26mm | o275 |
40 | 87mm | r - —|
50 | 29 mm | Total length
63 | 29mm |

80 | 3tmm |

100 | 30mm |

+ Compared with the basic type with male thread

Standard stroke
(mm)

Basic, Foot,
Flange, Clevis

20 ' 2510200
CG3 25to0 63 Double Single rod
acting
25 to 300
80, 100

Small auto switches are mountable.

(220 to 263)

Built-in
magnet for ::':b::
auto switch P

D-M9CI(W), D-A90

D-G5LI(W), D-K59(W), D-B64 ’

* For the trunnion type, please contact SMC sales representatives.

364

O



Air Cylinder

Short Type

Standard: Double Acting, Single Rod

CG3 series

020, 25, 32, 40, 850, 263, 280, 2100

How to Order

] CG3N|25|—|100|
 ith auto switch | CDG3N|25|—|100|

Built-in Magnet Cylinder Model

With auto switch l

(Built-in magnet)

Mounting

Basic

Foot

Rod flange

Head flange

O|®miro

Clevis

* Mounting brackets are shipped
together, (but not assembled).

-[M9BW]|
[

If a built-in magnet cylinder without an auto switch is required,
there is no need to enter the symbol for the auto switch.
(Example) CDG3FN32-100

Rod end thread
Cushion Nil Male thread For details, refer to page 366.
[N ] Rubber bumper F Female thread _ Auto switch mounting bracket e
G | Long male rod end* Note) This symbol is indicated when the D-A9T]
Bore size # G: Same rod end dimensions %MQD WF:? anTO S:li‘cg is spetcwﬂed‘,
i s mounting bracket does not aj to
20 | 20 mm 50/ 50mm (A AL, H) as CG1 series. ol?:sr auto swgilches (D-C70and }5%
25 | 25mm || 63| 63mm @‘) etc.) (Nil)
32 | 32mm 80| 80mm N
20 | 20 mm | [100] 700 mm a ( Number of auto switches
Nil 2 pcs.
A S 1 pc.
H n_ | pos.
Cylinder stroke (mm) Auto switch
Refer to the next page for [ Nil_]_Without auto switch

standard strokes.

+ For applicable auto switches,
refer to the below table.

Applicable Auto Switches/Refer to pages 1575 to 1701 in Best Pneumatics No. 2 for further information on auto switches.

Made to Order

£ Auto switch model 3
Type Special  |Electrical| 5 | Wiring ezt vellzEo Applicable bore size oD gl (@) Pre-wired Applicable load
YPe|  finction | entry | 8| (Output) - o= 220 0 063 80,0100 | 0.5 1| 3| 5 Nang| connector| PP
2 Perpendicular| In-line In-line (Nil) [(M)[ (L) | (Z) [ (N)
Swire (NPN) MONV MON G_ : O|—| O \
5V, 12V M9_PV M;P 39 @ 8 = 8 circcuit
o Grommet 3-wire (PNP) = — G5P — Ol= O
5 M9BV M9B — ®®O0|—| O
E=S 2-wire 12V = = K59 —@|0|—| O —
% Connector = H7C = —1 0 0 e —
] " MONWV MONW — ®®O0|—| O
3 | Diagnostic 2 3-wire (NPN) 24V lsv.i2v] — — = G59W —|®|0 @) IC |Relay,
@ | indication > 3-wire (PNP) ’ MIPWV MOPW — ® ® O[—| O |circuitl PLC
.3 (2-color — — G5PW —@|O0|—| O
indicator) i M9BWV MOBW — ®®OC|—| O _
% Grommet 2-wire 12v — — K59W —|®|0|—| O
n 3-wire (NPN) 5V 12V MONAV*! | MONA*! — O|O0|@|O|—| O IC
Water resistant 3-wire (PNP) ’ MOPAV#! | M9PA*! = O 10 O|—] O |circuit
(2-color indicator) - M9BAV*! | M9BA*! — O |0 Ool—| O _
2-wire 12V — — G5BA™T | — |[— o= O
Vi deosic i oty 4-wire (NPN) 5V, 12V = H7NF G59F O|—| O [ICcircuit
= @ e PN equivaent)|  — 5V — A96V A9 — — —|—| — [|ICcircuit] —
£ > | 100V | A93V*2 A9 — [) o —| — —
H Grommet | < 100Vorless|  AQOV A9 = —ol—|— IC circut
o —_— | 3 100V, 200V — B54 — o — —
E] 2wire | 2av | 2V [aovals]  — B64 = == — |Fe
B Connector 2= — — C730 — — o0
3 24Vorless = Cc80C = — ® | ® — |(Ccircut
O | Degusiciniin P nicdo] | Grommet — — — B59W — —|]=1 = —

=1 Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.

A water resistant type cylinder is recommended for use in an environment which requires water resistance. However, please contact SMC for water-resistant products of 20 and @25.

+2 1 m type lead wire is only applicable to D-A93.

= Lead wire length symbols: 0.5 m

Nil

ZNFZ

(Example) MONW
(Example)
(Example) MONWL
(Example) MONWZ
(Example) H7CN

MONWM

* Solid state auto switches marked with “O” are produced upon receipt of order.
* The D-G50/K500/B5[/B60] types cannot be mounted on the bore size 40.

= Since there are other applicable auto switches than listed above, refer to page 376 for details.
= For details about auto switches with pre-wired connector, refer to pages 1648 and 1649.
# The D-A90(V)/MITI(V)/MITIW(V)/MITIA(V) type auto switches are shipped together, (but not assembled). (However, auto switch mounting brackets are assembled when being shipped.)

365

D-O
-XO

Technical
Data



CG3 series

Symbol
Rubber bumper

Specifications

Bore size (mm) 20 ‘ 25 ‘ 32 ‘ 40 ‘

50 | 63 [ 80 | 100

Refer to pages 373 to 376 for cylinders with
auto switches.

« Auto switch proper mounting position
(detection at stroke end) and its mounting height
« Minimum stroke for auto switch mounting
« Operating range
« Auto switch mounting brackets/Part no.

to
Made to Order

Click here for details

Action Double acting, Single rod
Lubrication Not required (Non-lube)
Fluid Air
Proof pressure 1.0 MPa

il p ing pressure 0.7 MPa
Minimum operating pressure 0.05 MPa

Without auto switch: =10 to 70°C (No freezing)

Ambient and fluid

With auto switch: —10 to 60°C (No freezing)

Piston speed 50 to 1000 mm/s

[30 to 700 mmys

Stroke length tolerance i

5mm

Cushion Rubber bumper
Mounting Basic, Foot, Rod flange, Head flange, Clevis
A [Malerodend | 0.2J [0.29J]0.46J]0.84J] 1.4J [2.38J]4.13J]6.93J

‘ Symbol ‘ Specification

‘ -XAD ‘ Change of rod end shape

® 366

Kinetic energy | Female rod end | 0.11 J | 0.18J | 0.29J | 0.52J |

091J]1.544]2.71J] 4544

* Operate the cylinder within the allowable kinetic energy. Refer to page 368 for details.

Standard Strokes

Bore size (mm) Standard

stroke (mm) Not®)

20 25, 50, 75, 100, 125, 150, 200

25
32
40

63
80
100

50 25, 50, 75, 100, 125, 150, 200, 250, 300

Note) Manufacture of intermediate strokes in 1 mm increments is possible. (Spacers are not used.)

Accessories
——
5 5 Rod Head 5
Mounting Basic Foot flange flange Clevis
Standard Rod .enc? nut (male thread) [ J [ J [ J [J [ ]
Clevis pin — — — — [ ]
Single knuckle joint [ [ [ [ ] [ ]
. Double knuckle joint
Option (with pin) * [ ] [ ] [ ] [} [ ]
Pivoting bracket — — — — [
* A double knuckle joint pin and retaining rings are shipped together.
* For part numbers and dimensions, refer to page 372.
Mounting Brackets/Part No.
Mounting|order| Bore size (mm) Contents
bracket | &% | 20 25 32 40 50 63 80 100
Note) 2 foots,
Foot 2 | CG-L020 | CG-L025 | CG-LO32 | CG3-L040 | CG-L050 | CG-L063 | CG-L08O | CG-L100 g I'Ir:ounting
olts
1 flange,
Flange | 1 | CG3-F020 | CG3-F025 | CG-FO32 | CG3-F040 | CG-FO50 | CG-F063 | CG-F080 | CG-F100 g rIT:ounling
olts
1 clevis,
4 mounting
Clevis | 1 | CG-D020 | CG-D025 | CG-D032 | CG3-D040 | CG-D050 | CG-D063 | CG-D080 | CG-D100 ?ﬂfzilis pin
2 retaining '
rings
Pivoting CG-020- |CG-025- |CG-032- |CG-040- |CG-050- |CG-063- |CG-080- |CG-100- |1 pivoting
bracket 24A 24A 24A 24A 24A 24A 24A 24A bracket

Note) Order 2 foots per cylinder.



http://www.smcworld.com/products/en/custom.do

Air Cylinder [Short Type|
Standard: Double Acting, Single Rod CG3 Series

Theoretical Output

Unit: N
Bore size Rod size Operating Piston area Operating pressure (MPa)
D (mm) d (mm) direction (mm?) 0.2 0.3 0.4 0.5 0.6 0.7
20 s ouT 314 62.8 94.2 125.6 157 188.4 219.8
IN 264 52.8 79.2 105.6 132 158.4 184.8 cJ1
25 10 ouT 491 98.2 147.3 196.4 245.5 294.6 343.7
IN 412 82.4 123.6 164.8 206 247.2 288.4
- p- ouT 804 160.8 241.2 3216 402 482.4 5628 | [CJP
IN 691 138.2 207.3 276.4 345.5 414.6 483.7
40 14 ouT 1257 251.4 377.1 502.8 628.5 754.2 879.9 cJ2
IN 1103 220.6 330.9 441.2 551.5 661.8 7721
out 1964 392.8 589.2 785.6 982 1178.4 1374.8
€y B IN 1709 341.8 512.7 683.6 854.5 1025.4 1196.3 ‘JCM
ouT 3117 623.4 935.1 1246.8 1558.5 1870.2 2181.9
& e IN 2863 572.6 858.9 1145.2 1431.5 1717.8 2004.1 CM2
ouT 5027 1005.4 1508.1 2010.8 2513.5 3016.2 3518.9
80 22
IN 4646 929.2 1393.8 1858.4 2323 2787.6 3252.2 cMm3
100 26 ouT 7854 1570.8 2356.2 3141.6 3927 4712.4 5497.8
IN 7323 1464.6 2196.9 2929.2 3661.5 4393.8 5126.1 CG1
Weights 63
—
o |JMB
Bore size (mm) 20 25 32 40 50 63 80 100
Basic Basic 0.09 0.14 0.20 0.32 0.66 0.92 1.75 274 ‘ MB
weight Long male rod end (G) 0.10 0.15 0.21 0.34 0.70 0.97 1.84 2.85
Female rod end (F) 0.08 0.12 0.19 0.29 0.60 0.85 1.61 2.53
Additional | Foot 0.11 0.13 0.16 0.22 0.48 0.72 0.96 1.75 MB1
weight for | Flange 0.08 0.10 0.14 0.20 0.34 0.50 0.71 1.35
bracket | Clevis 0.05 0.08 0.15 0.23 0.40 0.68 0.71 1.28 CA2
Pivoting bracket 0.08 0.09 0.17 0.25 0.44 0.80 0.98 1.75
Single knuckle joint 0.05 0.09 0.09 0.10 0.22 0.22 0.39 0.57 cS1
Double knuckle joint (with pin) 0.05 0.09 0.09 0.13 0.26 0.26 0.64 1.31
Additional weight per 50 mm of stroke 0.05 0.07 0.09 0.13 0.19 0.23 0.31 0.43 csz
Additional weight for switch magnet 0.01 0.01 0.01 0.01 0.01 0.02 0.02 0.04
Calculation: (Example) CDG3FN20-100 (Built-in magnet, Flange type, 20, 100 mm stroke)
* Basic weight - 0.09 (Basic type, ©20)
* Additional waght fur bracket 0.08 (Flange)
« Additional weight for stroke - 0.05/50 mm
* Air cylinder stroke--- -+ 100 mm
» Additional weight for swnch magnet 0.01
0.09 + 0.08 + 0.05 x (100/50) + 0.01 = 0.28 kg
Mounting Procedure
=
Mounting procedure for clevis Mounting procedure for rod end nut
Follow the procedures below when mounting a pivoting bracket on the clevis type.
020 to 063 280, 2100
Retaining ring Retaining ring (Clearance)_
Cylinder body —
Clevis pin Retaining ring Clevis pin Rod end nut -
[ /(Apply grease) — Thoply grease.) (For male ‘hfead)\ iE
+HE=— - —{ Flange 17
| '
‘ jj v Foot l:k
ling bracket
t (Clearance) —
/\ Caution
1. Tighten clevis bracket mounting bolts with the following proper tightening torque.
220: 1.5 N-m, 925 to ©32: 2.9 N-m, 240: 4.9 N-m
250: 11.8 N-m, 963 to @80: 24.5 N-m, g100: 42.2 N-m D'D
2. For the flange type and the foot type, mount the rod end nut so that distance t (clearance) will be 1 mm or more
in order to prevent interference of the nut with the bracket when the rod is retracted. -XO
3

. The rod end nut (for male thread) should be mounted so that the hexagon part is on the rod end side. Apply the |Tchnical
wrench to the hexagon part. Data
367



CG3 series

Allowable Kinetic Energy

Allowable Lateral Load at Rod End

Table (1) Max. Allowable Kinetic Energy 8
Boresize(mm) | 20 | 25 | 32 | 40 | 50 | 63 | 80 | 100 1000
Male rod end 0.2 [ 0.29 |10.46 084 | 1.4 | 2.38 | 413 |6.93
Female rod end 0.11]0.18 [ 0.29 | 0.52 | 0.91 | 1.54 | 2.71 | 4.54 —
z
- m1 + m2) V2 ma: Mass of cylinder movable parts kg =g
Kinetic energy E (J)=% me: Load mass kg g
V : Piston speed at the end m/s 8 100
= 2100
Table (2) Mass of Cylinder Movable Parts: 3 280
. . . o
At Each Rod End/Without Built-in Magnet/0 Stroke [g] = —— (063
Bore size(mm) | 20 | 25 | 32 | 40 | 50 | 63 | 80 | 100 o ———— (050 |
Basic 30 | 54 | 74 | 121 | 254 [ 297 | 603 | 935 < 10 240
Long male rod end (G) | 36 64 89 | 146 | 300 | 343 | 683 | 1047 E 232
Female rodend (F)| 23 40 62 91 184 | 226 | 462 | 728 g 225
* Mass of the rod end nut is included for the basic type and the long male =< Py
rod end type (G). %
aps 1
Table (3) Additional Mass [g] 10 50 100 150 200 250 300
Bore size (mm) | 20 | 25 | 32 | 40 | 50 | 63 | 80 | 100 Cylinder stroke (mm)
Addifional mass per 50 mm o sroke | 20 31 44 61 99 99 | 148 | 207
Switch magnet 4 4 9 13 14 22 24 35
« Do not apply a lateral load over the allowable range to the rod end when
it is mounted horizontally.
Calculation: (Example) CDG3BN40-150
* Standard mass of movable parts: Table (2) Rod end [Basic], Bore size [40] - 121g
 Additional mass: Additional mass of stroke 61 x 150/50 = 183 g ++eeseesuseens 183 g
Switch magnet 13g
Total 317 g
Construction
——————
With rubber bumper
ddd
Component Parts Replacement Parts/Seal Kit
No. Description Material Note Bore size (mm) Kit no. Contents
1 Rod cover Aluminum alloy Hard anodized 20 CG3N20-PS Set of th
2 Tube cover Aluminum alloy Hard anodized 25 CG3N25-PS engs ©
3 Piston Aluminum alloy Chromated 32 CG3N32-PS | 1y ). ®
4 Piston rod Carbon steel* Hard chrome plated* 40 CG3N40-PS | '~
5 Bushing Bearing alloy Note) As sizes @50 and larger cannot be
6 Bumper A Resin disassembled, the seal cannot be replaced.
7 Bumper B Resin Note) Refer to the following for disassembly/
8 Wear ring Resin replacement. Order with a part number for
9 Rod end nut Carbon steel Nickel plated each type and bore size.
10 Rod seal NBR * The seal kit includes a grease pack (10 g).
1 Piston seal NBR Order with the fo!lowing part number when only
12 Tube gasket NBR the grease pack is needed.

Note) In the case of cylinders with auto switches, magnets are installed in the piston.
* The material for 820 and @25 cylinders with auto switches is made of stainless steel.

® 368

Grease pack part no.: GR-S-010 (10 g)




Dimensions

Basic: CG3BN | Bore size |—[ Stroke |

With rubber bumper

Width across F_ GA 2xP
I

Air Cylinder [Short Type|
Standard: Double Acting, Single Rod

CG3 series

flats KA T Female Rod End (mm)
MM H1 : Bore size| Standard CJ1
i <} ~ ‘ ’ (mm) | stroke A|H| MM 2z
T\
O§ ]\:; mi = 20 |Upto200| 8| 13 | M4x07 | 72 CJP
(8]
LQ ;&727 Corner of 25 |Upto300| 8| 14 | M5x08 | 76
the cover 32 [Uptodoo[ 12| 14 | Mex1 | 78 ‘CJZ
Width across | ol (220 to 063) 40 |Upto300| 13 | 15 | MBx1.25| 79
flats B1 (BN 50 |Upto300] 18 | 16 | M10x1.5[102
\ A 63 [Upto3oo] 18 | 16 |Mi0x15]102 |JCM
(o] 8xdJ H S + Stroke F 80 |Upto300| 21 | 19 | M14x 15 [126
NA 2Z - Stroke 100 [Upto3oo[ 25 [ 22 [miex15[130 |CM2
Long Male Rod End *
Female rod end Long male rod end 9 (mm) CM3
Bore size| Standard AlAL| H |2zz
(mm) stroke
20 |Upto2oo| 18 |155] 35 | 94 |CG1
25 |Upto300| 22 |19.5| 40 | 102
32 |Upto300| 22 |19.5| 40 | 104 m
40 |Upto300| 30 |27 50 | 114
50 |Upto300] 35 |32 58 | 144 JMB
63 |Upto300| 35 |32 58 | 144
80 |Upto300| 40 |37 71 | 178
ZZ + Strok
+ Stroke 100 |Uptosoo] 40 |37 | 71 [179 |MB
. ZZ + Stroke
Basic (mm)
Bore size|Standard| | o) | By | ¢ | D | E | F |GA|GB| H | H1 | I J KA MM |[NA| P | s |2z MB1
(mm) stroke
20 |Upto200|14.5]12 13 |14 8 | 12 2 |12 6 20 5 26 | M4x0.7 depth 7 5| M8x1.25 | 24 |[M5x08| 57| 79 CAZ
25 |Upto300|17.5|15 17 |165| 10 | 14 2 |125]| 7 23 6 31 | M5x0.8depth 7.5 5| M10x1.25| 29 |[M5x0.8| 60| 85
32 |Upto300|17.5|15 17 |20 12 | 18 2 |11 75| 23 6 38 | M5x0.8depth 8 | Widh across fafs 10 lengih 35| M10 x 1.25 | 355| Rc1/8 | 62| 87 cs1
40 |Upto300|23.5[20.5| 19 |26 14 | 25 2 |105| 75| 29 8 47 | M6 x 1depth 10 f2lengh35| M14x1.5 | 44 | Rc1/8 | 62| 93
50 |Upto300/29 |26 27 |32 18 | 30 2 |15 12 35 11 58 | M8 x 1.25 depth 16 | Width across fafs 16 lengih 45| M18 x 1.5 | 55 Rc1/4 84 | 121 csz
63 |Upto300/29 |26 27 |38 18 | 32 2 |15 12 35 11 72 | M10x 1.5 depth 16 fais 16kength 45| M18x 1.5 | 69 Rc1/4 84 | 121
80 |Upto300|35.5|32.5| 32 |50 22 | 40 3 |17 |16 44 13 89 | M10 x 1.5 depth 22 | Width across flas 19lengih 45| M22 x 1.5 | 80 Rc1/4 | 104 | 151
100 [Upto300|35.5[32.5| 41 |60 26 | 50 3 |20 |16 44 | 16 | 110 |M12x1.75 depth 22 lengi45| M26x 1.5 [ 100 | Rc3/8 | 105 | 152
#1 Use a thin wrench when tightening the piston rod.
*2 Long male rod end type (G) is the same rod end dimensions (A, AL, H) as the CG1 series.
+3 When female thread is used, use a washer, etc. to prevent the contact part at the rod end from being deformed depending on the material of the work piece.
Foot: CG3LN [ Bore size |—| Stroke | - S+ Stroke
. t (Clearance)*! GA 2xP Widthacross GB
With rubber bumper 8xJ Rod part flats NA
MM [l
AL >ﬁ:
-] E
Width =
across e = 77}
flats B1 He 4
; —
N ~J
Width across M 2x0LC
flats KA e ————— X M
s \ LX X |Y (Knock pin position) |
ectional view
of the rod part Lz z LS+ Stroke
ZZ+ Stroke
*1 The rod end nut should be mounted in the position t (clearance) so that it will have a clearance of 1 mm or more
Foot in order to prevent interference of the nut with the bolt for mounting bracket when the rod is retracted. (mm)
Symbol
Bores\zetmnynTo AL| B [B1|C |[D|GA(GB|H [H1|H2| I | J KA LC|LD|LHLS|LT|LX|LZ M| MM |[NA| P |S|W |X|Y|Z|2ZZ
20 145(12 | 34 [13(14 | 8|12 | 6 [20| 5|4 | 26| M4x07 |Widhavossfaisélengh3s | 4 | 6|20 | 33 | (3) | 32| 44|3 |MBx1.25| 24 |M5x0.8| 5710 |15 |7 |32 | 83
25 17.5]15 | 385|17 |165[10 (125 7 |23 | 6|4 | 31| M5x08 4] 62|36 |(3| 36| 49{35 MI0x125] 29 |M5x0.8| 6010 [15 | 7 [35 | 89.5
32 175(15 | 45 |17 (20 12|11 | 75[23| 6|4 | 38| M5x08 osstls engh3s| 4 | 725 | 36| (3) | 44| 58]35 [MI0x1.25{ 355 | Ret/8 | 6210 [16 | 8 [36 | 915
40 235|205| 545|19 |26 |14 (10.5] 7.5{ 29| 8|55 | 47| M6x1 4] 7]830 (35| (3)| 54 7|4 |M4x15| 44 | Reif8 | 62|10 [165)| 85/425| 98
50 29 |26 | 705|27 |32 |18 |15 [12 |35|11|8 | 58| MBx125 5 |10 ] 40 |49 |(45) 66| 865 |M18x1.5| 55 | Rci/4 | 84 [175]22 |11 [525)|1285 D'I:l
63 29 |26 | 825|027 (38 |18 (15 |12 |35 |11 |8 | 72| M10X 1.5 |Wishavosstestolenghts| 5 | 12 | 45 | 49 |(4.5)| 82]106|5 |M18x1.5| 69 | Rel/4 | 84 [175[22 |13 |525]|1285
80 355/325|101 |32 (50 |22 |17 |16 |44 | 13[95] 89| MI0x15 ossfls 9lengh45) 6 | 11| 55 | 56 |(4.5)[100{125|5 |M22x1.5| 80 | Rci/4 | 104 [20 [285|14 |68 |157.5 -XI:l
100 355]325(121 | 41|60 |26 |20 [16 |44 | 16|95 110 M12x1.75 6 | 1465 |57 (6 [120{150{7 |M26x1.5]100 | Rc38 |105/20 |30 |16 |68 |162

= Use a thin wrench when tightening the piston rod.
= Refer to the dimensions of the basic type for the female rod end type and the long male rod end type.

369



CG3 series

Dimensions

Rod Flange: CG3FN| Bore size |—| Stroke
With rubber bumper

A
AL 4xoFD 8xJ Rod part
4—>*H I od pa
MM
i a| §lo o5 ] s .I

?
Width across 2 ) uw 5; Corner of
flats KA the cover

Width across - (920 to 063)
Sectional view flats B1 — Width across flats NA
of the rod part c — |R2 t (Clearance) 2
FX:o0.15 H S + Stroke F
B ZZ + Stroke

«1 End boss is machined on the flange for oE.

#2 The rod end nut should be mounted in the position t (clearance) so that it will have a clearance of 1 mm or more
in order to prevent interference of the nut with the bolt for mounting bracket when the rod is retracted.

Rod Flange (mm)
Boe o ‘:’y“"“w A |AL| B |B1| C |D|E|F|FX|FD |FT|GA|GB |H [Hi|H2| I J KA MM |[NA| P |S |2z
20 14512 40 [13[14 8|12| 2 28| 55| 6|12 6 20| 5|4 26 | M4x0.7 | Widthacrossfiats 6length 35 | M8x1.25 | 24 |M5x0.8| 57| 79

25 175[15 44 |17|16.5|10(14| 2| 32| 55| 7[125| 7 |[23| 6|4 31 | M5x0.8 | Widthacrossfiats 8length 35 |[M10x 1.25| 29 |M5x0.8| 60| 85

32 175|115 53 (17|20 |12|18| 2 | 38| 6.6| 7|11 75|23| 6|4 38 | M5x0.8 | Widthacross fats 10length 35 |M10x 1.25| 35.5 | Rel/8 62| 87

40 235|205 61|19(|26 [14|25|2 | 46| 66| 8|105| 75|29| 8|55| 47 | M6x1 |Widhacrossfats12lengthds| M14x 1.5 | 44 Rc1/8 62| 93

50 29 |26 76 |27|32 |18|30| 2| 58| 9 9|15 |12 |35]11|8 58 | M8 x1.25 | Width across flas 16length 45| M18x 1.5 | 55 Rc1/4 84121

63 29 26 92 |27 |38 18(32]| 2 70| 11 9|15 12 35118 72 | M10x 1.5 | Width across flats 16length 45| M18x 1.5 | 69 Rcl/4 84121

80 35.5(325|104 32|50 |22|40|3 82|11 1117 16 |44|13[9.5| 89 | M10x 1.5 |Widthacrossfiats 19lengh 45 | M22x 1.5 | 80 Rc1/4 | 104|151

100 35.5(32.5| 128 |41|60 |26|50| 3 |100]|14 14120 16 |44)16]9.5| 110 | M12x1.75 | Width e length 45| M26 x 1.5 | 100 Rc3/8 | 105 | 152

* Use a thin wrench when tightening the piston rod.
+ Refer to the dimensions of the basic type for the female rod end type and the long male rod end type.

Head Flange: CG3GN | Bore size |—| Stroke
With rubber bumper

Width across

flats KA F_GA 2xP GB__ _ 4xoFD
——— Hi1 L 8
MM\ °¢
al|ll T u
N © Q
iz w»
£ = s ol &
Corner of u ]:)%7 x
the cover
(220 to 063)
" AL "
Width across flats B1 Width across flats NA
SRS S S A L IFT c
H S + Stroke LLF FX:0.15
ZZ + Stroke B
# End boss is machined on the flange for oE.
Head Flange (mm)
Bore oo Sl A |AL| B [B1| C |D|E|F|FX|FD|FT|GA|GB H Hi| I | 4 KA MM [NA| P |s |2z
20 |upto200[14.5[12 | 40[13|14 | 8[12| 2| 28] 55| 6|12 | 6 [20] 5| 26| M4x0.7 | Widhacuossfatsblengh3s | M8x 1.5 | 24 |M5x08] 57] 85
25 [Upto300[17.5[15 | 44|17 [165]10][ 14| 2 | 32| 55| 7|12.5] 7 [23] 6] 31| M5x08 [ Widhacuossfaislengh3s [M10x1.25] 20 |M5x08] 60[ 92
32 [Upto300[17.5[15 | 53[17]20 [12]18] 2 | 38| 66 7|11 | 7.5[23] 6| 38| M5x08 | Widhacuossfas 10kngh3s [M10x1.25] 35.5] Re1/8 | 62] 94
40 [Upto300[235]205| 61]19]26 [14]25| 2 | 46| 6.6 8|10.5] 7.5[29] 8] 47| Mex1 |Widhacossfatsi2lengh3s | M14x15] 44 | Rel8 | 62]101
50 |Upto300[29 [26 | 76|27[32 [18]30| 2| 58| 9 | 915 [12 [35| 11| 58 M8x1.25 | Wihacussfasislnghs5 | M18x 15| 55 | R4 | 84130
63 |Upto300[29 [26 | 92|27[38 [18]32| 2| 70|11 | 9]15 [12 [35| 11 72| M10x1.5 |Widhacossfasislngh45 | M18x 15| 69 | R4 | 84130
80 |Upt0300]35.5(32.5|104(32(50 [22]40| 3 | 82[11 |11|17 [16 [44]13| 89 | MI0x1.5 | Widhacussfats19kengh45 | M22x1.5| 80 | Ret/4 | 104 [ 162
100 |Upt0300]35.5|32.5[12841]60 |26|50| 3 [100[14 |14 |20 [16 |44 |16 | 110 [M12x1.75] Widhacross fats 2 engh45 | M26x 1.5 [100 | Re38 | 105 166

* Use a thin wrench when tightening the piston rod.
+ Refer to the dimensions of the basic type for the female rod end type and the long male rod end type.

370



Dimensions

Clevis: CG3DN | Bore size |

—[ stroke | (220 to ¢63)

With rubber bumper

Air Cylinder [Short Type|
Standard: Double Acting, Single Rod

CG3 series

H S + Stroke L RR 8xdJ (C2)
F GA 2xP GB . o] TT
A Width fats NA @CDHi10 (Hole dia.) CJ1
1dth across fats a0 (Shaft dia.)
AL
[ ]I Pt A1 it cJP
[] o T [ A Qand
3 G = D o cJ2
Cornerof W] [H1] R\ i B o
(T | 2}
the cover n‘ I A\ -
(220 to 063) s / | \ U B e E = JCM
Width across flats B1 MM Width across flats KA :Jf:\ +
w | By f cM2
™w 4x0TF TEG"
Z + Stroke 2xetn ) 2=0 CM3
ZZ + Stroke Tz
Clevis (220 to ©63) (mm)
Bore size| Standard
(mm) | stroke A |AL B |B1| C CD|CZ| D | E | F |GA|GB|H |Hi| I J KA L MM m
20 |Upto200|14.5|12 |38 13 [14 8 |(29) 8 | 12 2 |12 6 20 5 | 26 | M4x0.7 | Width across flats 6 length 3.5 | 14 | M8 x 1.25
25 |Upto300|17.5[15 [455| 17 |16.5| 10 [(33) | 10 | 14 2 |125] 7 23 6 | 31 | M5x0.8 | Widthacross flats 8 length 35 | 16 |M10x 1.25 JMB
32 |Upto300/17.5|15 |54 17 {20 12 |(40) | 12 | 18 2 |11 75| 23 6 | 38 | M5x0.8 | Width across flats 10 length 3.5 | 20 |M10x 1.25
40 |Upto300|23.5(20.5|635| 19 |26 14 | (49) | 14 | 25 2 |105]| 75| 29 8 | 47 | M6x1 | Width across flats 12 length 3.5 | 22 | M14x 1.5 MB
50 |Upto300/29 |26 |79 27 |32 16 | (60) | 18 | 30 2 |15 |12 35 | 11 | 58 | M8 x1.25 | Width across flats 16 length 45| 25 | M18x 1.5
63 [Upto300/29 |26 |96 27 |38 18 [ (74) | 18 | 32 2 |15 |12 35 | 11 | 72 | M10x 1.5 | Width across flats 16 length 45| 30 | M18x 1.5 MB1
Bore size| Standard Applicable
(mm) | stroke NA P RR| S |TE|TF |TH | TT | TV [TW|TX | TY | TZ Z |2z pin part no. CA2
20 |Upto200| 24 M5x0.8 | 11 57 | 10 55| 25 | 3.2 | (35.8) | 42 16 | 28 43.4 91| 112 | CD-G02
25 |Upto300|29 M5x0.8 | 13 | 60 | 10 | 55| 30 | 3.2 |(39.8) | 42 | 20 | 28 48 99 | 120 | CD-G25 cs1
32 |Upto300|35.5 Rc1/8 15 | 62 | 10 | 6.6| 35 | 4.5 | (49.4)| 48 | 22 | 28 59.4 | 105|129 | CD-G03
40 |Upto300| 44 Rc1/8 18 | 62 | 10 | 6.6| 40 | 4.5 | (58.4) | 56 | 30 | 30 71.4 | 113 | 141 | CD-G04 csz
50 |Upto300|55 Rc1/4 20 | 84 | 20 | 9 50 | 6 (72.4)| 64 | 36 | 36 86 144 | 176 | CD-G05
63 |Upto300| 69 Rc1/4 22 | 84 | 20 |11 60 | 8 (90.4) | 74 | 46 | 46 | 105.4 | 149 | 186 | CD-GO6
* Use a thin wrench when tightening the piston rod. :* Refer to the dimensions of the basic type for the female rod end type and the long male rod end type.
 Refer to page 372 for pivoting bracket.
Clevis: CG3DN [ Bore size |—| Stroke | (280, o100)
With rubber bumper H S + Stroke L _RR Tz
F [GA 2xP GB _V 8xJ cz
A Width across flats NA oCDHi1o (Hole dia.) c
n
AHI: | do (Shaft dia.)
(o } € I\
& rH s o]
w| T N w @
/'Ta "\ 3|0 =
A 4xoTF
d ,yrri{i N @/ =
Width across flats B1 Width across flats KA [
MM TY E 05
W CX-03
Z + Stroke X
ZZ + Stroke TV
Clevis (280, 100) (mm)
Bore size| Standard
(mm) | stroke A | AL B B1| C |[CD|CX|CZ|D|E|F GA|GB| H Hi| I J KA L
80 |Upto300|35.5)|325 99.5 | 32 | 50 | 18 | 28 | 56 | 22 | 40 3 17 | 16 | 44 13 89 | M10 x 1.5 | Width across flats 19 length 4.5 | 35
100 [Upto300|35.5(32.5| 120 41 | 60 | 22 | 32 | 64 | 26 | 50 3 20 | 16 | 44 | 16 | 110 | M12 x 1.75 | Width across flats 22 length 4.5 | 43
Bore size|Standard Applicable D'D
(mm) | stroke MM NA P RR| S |TF|TH |TT | TV |TW |TX |TY (TZ | V | Z zz pin part no.
80 |Upto300| M22x1.5| 80| Rc1/4 | 18 | 104 |11 55 | 11 | 110 72 85| 45 | 64 | 26 | 183 | 241.5 1Y-G08 -xl:l
100 [Upto300| M26x 1.5 | 100 | Rc3/8 | 22 | 105 [13.,5| 65 | 12 | 130| 93 [ 100 | 60 | 72 | 32 | 192 | 268.5 1Y-G10

= Use a thin wrench when tightening the piston rod.
* Refer to page 372 for pivoting bracket.

+ Refer to the dimensions of the basic type for the female rod end type and the long male rod end type.



CQG3 series
Dimensions of Accessories

Single Knuckle Joint Double Knuckle Joint

1-G02, I-G03 1-G04, I-G05, I-G08, I-G10 Y-G02, Y-GO03 Y-G04, Y-G05, Y-G08, Y-G10
Material: Carbon steel Material: Cast iron Material: Carbon steel Material: Cast iron
MM ONDkio MM OND:o >
- =7
o
et s &8 —&)
1 MM oND hole 10
I MM oND hole Hio Axis d9
NX Axis d9
- =
i on o[ RS e[
pplcable
Part no. boresize ) A |A1|E1|Li| MM |[R1|U1|NDHwo| NX At Ut §
1-G02 | 20 [34] 85|016] 25 | Mex125 [103[115] 89 | 832 RN A1 | Ut
1-GO3 | 25, 32 | 41 [105|0020] 30 | Mi0x 125 [128]14 |10°8*° | 1054 A L1
1-GO4 | 40 |42 (14 |022| 30 | Mi4x15 [12 |14 |[10°8°® | 18753 A (mm)
1-G05 | 50, 63 | 56 |18 | 028 40 | Mi8x15 [16 |20 |14°6°° | 2258 Applicabl] Included
I-GO8 | 80 |71 21 |038] 50| M22x15 |21 |27 | 18°3°° | 2832 Part no. b(meswz,e A |A1[E1|L1| MM |R1|U1|ND| NX [NZ| L |pinpart
= mm) no.
I-G10 | 100 |79 [21 |o44|65 | Me6x15 [2¢ |31 | 226" | 32:85 Y-G02| 20 |34 85|0016] 25 | M8x125 [103[115] 8 8133|1621 |1¥-G02
Knuckle Pin Y-G03|25, 32| 41 |10.5|0120| 30 | Mi0x1.25 [12.8]14 | 10 10384 | 20 | 25.6] IY-GO3
——— Y-GO4| 40 |42 |16 |022| 30 | Mi4x15 |12 |14 |10 |18:83 | 36 |41.6]IY-G04
Y-G05 |50, 63| 56 |20 | 028| 40 | Mi8x15 |16 |20 |14 | 22183 | 44 |506] IY-GO5
Y-GOS‘ 80 |71[23 |038)50 | M22x15 |21 |27 |1828155(56 |64 |IY-GO8
Y-G10‘ 100 |79 |24 | 044| 55 | M26x1.5 |24 |31 |22 |32183 |64 (72 |IY-G10

* A knuckle pin and retaining rings are included.

Material: Iron ] (mm) Pivoting Bracket (Order separately)
Part no. ho?gg‘hzc:f:m) Dd9 L|d|L | m|t retlgfn‘i'-rl\(g;egng 020 to 063 Material: Carbon steel
1Y-Go2 | 20 8352 (21 | 76/162[15 |09 |TypeCBloraxs l‘.T_Lﬁj/w_Td
1Y-GO3 | 25,32 | 105%% [256| 9.6[20.2|1.55 | 1.15 | Type C10foraxis TR
1Y-G04 40 1035 [41.6] 9.6]36.2|1.55 | 1.15 |Type C10for axis
1Y-GO5 | 50,63 | 14:5%3 [50.6|13.4|44.2]2.05 | 1.15 | Type Cl4for axis 3 ol
1Y-G08 80 | 185G |64 |17 [56.2|2.55 1.5 Type CiBforaxis ! =E
IY-G10 | 100 | 22%% |72 [21 |64.2|2.55]1.35 | Type C22foraxis el ﬁb_
* Retaining rings are included. TY [}
Clevis Pin ™
—
B 280, 100 Material: Cast iron
_ E% oTR oTd
m L1 m
Material: Carbon steel t LNt (mm)
Applicable Included
Part no. | e e (mm) Ddo | L |d|Lim)t retaining ring
CD-G02 | 20 8356 | 434] 7.6(38.6|1.5 0.9 |TypeC8foraxis .
CD-G25 25 10567% | 48 | 9.6|42.6 |1.55 | 1.15 | Type C10foraxis LT
CD-G03 32 128528 | 59.4|11.5|54 | 1.55|1.15 |TypeCl2forads ™w
CD-G04 40 14563 | 71.4|13.4|65 |2.05 | 1.15 | Type Cl4foraxis (mm)
CD-G05 | 50 1686 | 86 |15.2|79.6|2.05 | 1.15 | Type Ci6foraxs Applicable
CD-G06 63 18395 | 1054 |17 | 97.8 | 2.45 | 1.35 | Type C18 for axis Part no. bore size (mm) B|Td |TE | TF |TH | TN TR | TT
* Retaining rings are included. ) CG-020-24A 20 [36| 8|10 55[ 25 |(293] 13 | 32
# A clevis pin and a knuckle pin are common for the bore size 280 and &100. CG-025-24A 25 43 | 10 | 10 | 55] 30 |(34)] 15 | 3.2
Rod End Nut (For Male Thread) CG-032-24A 32 50 | 12 | 10 | 6.6] 35 |(404)| 17 | 45
o CG-040-24A 40 58 | 14 | 10 | 6.6| 40 |(492)| 21 | 45
d CG-050-24A 50 |70 |16 |20 | 9 |50 |(604)| 24 | 6
CG-063-24A 63 |82 |18 |20 |11 | 60 |(746)| 26 | 8
N, CG-08024A| 80 |73 | 18 | — [11 | 55 [28%)] 36 |11
W CG-100-24A| 100 | 90 | 22 | — [135] 65 |24 | 50 |12
Applicable Applicable
Material: Carbon steel Bt | (mm) Railno bore size (mm) TU | TV |TW TX | TY | TZ pin O.D
Applicable CG-020-24A| 20 |(18.1)[(358)| 42 | 16| 28 | 383| 8ds30%
Patno. |poesze(mm)| 9 | bh B ] © | eb]o CG-025-24A| 25 |(207)[(308)| 42 | 20| 28 | 421] 10ds33%
NT-02G3| 20 M8x125 | 5|4 | 13| (15 [125][10 CG-032-24A| 32 |(236)[(494)] 48 | 22| 28 | 538| 12ds235%
NT-03G3| 25,32 |M10x125| 6 (4 | 17 | (19.6) [ 165 |12 CG-040-24A| 40 |(27.3)[(584)| 56 | 30| 30 | 64.6| 14ds35)
NT-04G3 40 M14x15 8 155| 19 | (21.9) | 18 |164 CG-050-24A| 50 |(29.7)|(724)| 64 | 36| 36 | 79.2| 16ds=56s
NT-05G3| 50,63 | M18x1.5 | 11 |8 [ 27 | (31.2) | 26 [204 CG-063-24A| 63 |(34.3)[(904)| 74 | 46| 46 | 972| 18ds35%
NT-08G3| 80 M22x1.5 | 13 | 95| 32 | (37) |31 |28 CG-080-24A| 80 | — | — | 72 | 85| 45 |110 | 18ds5%
NT-10G3| 100 M26x1.5 | 16 | 95| 41 | (47.3) [ 39 [33 CG-100-24A| 100 | — | — [ 93 [100| 60 [130 | 22ds3%%

372



CG3 series

Auto Switch Mounting

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

Solid state auto switch Reed auto switch
D-M9C1, M9LIW/D-M9LIA D-A90]
020 to 063 020 to 063
~Hs
=t
A 2] L8]
(24)

( ): Dimension of the D-M9JA.
A and B are the dimensions from the end of the head cover/rod
cover to the end of the auto switch.

D-M9C1V, MOCIWV/D-M9JAV D-A901V
020 to 063 020 to 063
~Hs ~Hs

A | 2] B
(22)
( ): Dimension of the D-M9TIA.
A and B are the dimensions from the end of the head cover/rod

5
[
—

cover to the end of the auto switch.

==

LA |z

A and B are the dimensions from the end of the head cover/rod
cover to the end of the auto switch.

CJP

%: }|CJ2

A |25 l.B JCM

(22)
( ): Dimension of the D-A96. CMZ
A and B are the dimensions from the end of the head cover/rod

CM3

CG1

HH =

cover to the end of the auto switch. MB1
D-G5, K5, G5C0W, G5BA D-C7, C8/D-C73C, C80C
D-K59W, D-G59F, D-G5NT 220 to 263 CA2
220 to 2100
~Hs cs1
AN : i
(o 51 TV — i1 cs2
(SZEiL N
A B
D-H701, H7OW D-B5, B6, B59W
D-H7NF, H7BA, D-H7C 220 to 2100
220 to 063
=Hs =~ Hs
AR\ RN, fal 77
(TT 2 f e wﬁ
& W T ==k )
K ]
A 8.
Auto Switch Proper Mounting Position (mm) Auto Switch Mounting Height (mm)
Auto switch D-G500W | [\ Auto switch
model D-H70 | p-ks9w model D-M9O  D-H70 D-G5/K5 D-GSNT
D-C7/C8 D-H7C | D-G59F D-M9CIV | D-M9OW D-H7OW D-G5CW D-G59F
ﬁmgg% D-A9(V) | D-C73C | D'BS | D-B59W | D-H7OW | D-GS D-MICWY | DHiSDA DHINF | D-C73C |D.Ksaw DHIC
DMOTIA(Y) D-C80C D-H7BA |D-K5 D-M9UIAV | D-A90  D-H7BA D-B5/B6 D-G5BA
D-H7NF | D-GSNT D-A9IV D-C7/C8 D-B5OW
D-G5BA
Boresize\ A | B| A | B|A|B| A|B|A|B|A|B|A| B |Boesize Hs Hs Hs Hs
20 28.5/16.5|24.5|125(25 |13 |19 8 |22 |10 |24 |12 |20.5]| 85 20 25.5 245 27 27.5
25 29 |19 |25 |15 |25.5|155(19.5| 9.5/225]|12.5|24.5/145]|21 |11 25 28 27 29.5 30
32 30.5/19.5|26.5|155(27 |16 |21 |10 |24 |13 |26 |15 |225|115 32 31.5 30.5 33 33.5
40 (31 [19 |27 |15 [27.5(155| — | — | — | — |26.5|145| — | — 40 36 85 37.5 38
50 42.5|29.5|38.5(255|39 |26 |33 |20 |36 |23 |38 |25 |34.5|215 50 41.5 40.5 43 43.5
63 42.5|29.5|38.5|255|39 |26 [33 |20 (36 |23 |38 |25 |345|215 63 48.5 47.5 50 50.5
80 — | —|—|— ] — ] — |44 |29 |47 |315] — | — |455|30.5 80 — — — 59
100 | — | —[—[—[]—]—1]44 [30 |47 |325]| — | — |455]|315]| 100 — — — 69.5 D-1
Note 1) Adjust the auto switch after confirming the operating condition in the actual setting.
Note 2) For the combination of the following auto switches, bore sizes and mounting positions, the auto switch cannot be mounted to the port side. 'XD

* D-H70 type --- On the head side of the bore size 920, 925, 832, 940, 650, 663
* D-A90J/C70J/C8 types --- On the head side of the bore size 820, 832, 40
* D-G500/K500/B59W types --- On the head side of the bore size 820, 925, 032, 650, 663

« D-B50/B60 types --- On the head side of the bore size 820, 925, 832, 850, 863, 880, 6100 and the rod side of the bore size 820, 825, 632



CG3 series

Minimum Stroke for Auto Switch Mounting

n: Number of auto switches (mm)

Number of auto switches
Auto switch model With 1 pc With 2 pcs. With n pcs.
) Different surfaces Same surface Different surfaces Same surface
(n-2) B
D-M9TI 5 15Nete 40 Noe ) 20+35°°7 55+35(n-2)
(N=2, 4, 6...)Note3) (n=2,3,4,5)
(n-2) .
DIMOEW. 10 15nae 400 20+35 05 55+ 35 (n—2)
(N=2, 4, 6..)Noted) (n=2,34,5")
(n-2) _
D-M9CIA 10 25 40 Note 1) 25+35 60 +35(n-2)
(n=24,6 (n=2,8,4,5-)
(-2 -
D-A9C] 5 15 30 Note 1) 15+35 2 50 +35(n-2)
(N=2, 4, 6. Note3) (n=2,3,4,5)
n—-2 _
D-MOLIV 5 20 35 20+35 77 35+35(n-2)
(N=2, 4, 6..) Note'3) (n=2,3,4,5)
(n-2) -
D-ASCIV 5 15 o5 15+35 115 25+35(n-2)
(N=2, 4, 6.) Noted) (n=2,3,4,5)
D-MOIWV 0 " - 20+35 (22 35435 (n-2)
D-M9CIAV (=2, 4, 6. Note3) (n=2,3,4,5-)
D-C701 5 20 50 20 + 45 ﬁ%l 60 + 45 (n-2)
D-C80 (N=2, 4, 6...)Note3) (n=2,3,4,5-)
D-H70
D-H7OW 10 5 70 25+45 ﬁ% 70 +45 (n - 2)
D-H7BA (N=2, 4, 6..)Notws) (n=2,3,4,5)
D-H7NF
D-C73C (n-2
D-C80C 5 20 80 30+50 5 80 + 50 (n - 2)
D-H7C (N=2,4, 6. Note ) (n=2,3,4,5-)
D-B50
D-B64 s o 2 25450 (1=2) 70+ 50 (n-2)
D-G500 (=2, 4, 6y Noted (n=2,3,4,5-)
D-K590
(n-2) _
D-B59W 10 20 75 30 + 50 75+ 50 (n - 2)
(N=2, 4, 6.-) Note3) (n=2,3,4,5)

Note 3) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.

Note 1) Auto switch mounting

Auto switch model

With 2 auto switches

Different surfaces

Same surface

A

e

The auto switch proper mounting position is 3.5 mm from the
back face of the switch holder.

The auto switch is mounted by slightly displacing it in a direction
(cylinder tube circumferential exterior) so that the auto switch and
lead wire do not interfere with each other.

D-M9O Note 2) Note 2)
D-MOOW Less than 20 mm stroke Less than 55 mm stroke

D-M9JA Less than 20 mm stroke Note 2) Less than 60 mm stroke Note 2)
D-A90) — Less than 50 mm stroke Note 2)

Note 2) Minimum stroke for auto switch mounting in types other than those mentioned in Note 1

374




Auto Switch Mounting Brackets/Part No.

Auto Switch Mounting 063 Series

Auto switch

Bore size (mm)

model

20

25

32

40

50

63

80

100

D-M9I(V)
D-M9CIW(V)
D-A9C1(V)

Note 1)
BMA3-020

Note 1)
BMA3-025

Note 1)
BMA3-032

Note 1)
BMA3-040

Note 1)
BMA3-050

Note 1)
BMA3-063

o
G
p=ry

D-M9IA(V)

Note 2)
BMA3-020S

Note 2)
BMA3-025S8

Note 2)
BMA3-032S

Note 2)
BMA3-040S

Note 2)
BMA3-050S

Note 2)
BMA3-063S

(x]
C—
-}

D-C70/C80
D-C73C/C80C
D-H70
D-H7OW
D-H7NF

BMA2-020A

BMA2-025A

BMA2-032A

BMA2-040A

BMA2-050A

BMA2-063A

D-H7BA

BMA2-020AS

BMA2-025AS

BMA2-032AS

BMA2-040AS

BMA2-050AS

BMA2-063AS

D-B501/B64
D-B59W
D-G501/K59
D-G5C1W/K59W
D-G5BA/G59F
D-G5NT

BA-01

BA-02

BA-32

BA-04

BA-05

BA-06

BA-08

BA-10

oo
==
@S

[}
D
-

Note 1) Set part number which includes the auto switch mounting band (BMA2-000OA) and the holder kit (BJ5-1/Switch bracket: Transparent).
Since the switch bracket (made from nylon) are affected in an environment where alcohol, chloroform, methylamines, hydrochloric acid or sulfuric

acid is splashed over, so it cannot be used. Please consult SMC regarding other chemicals.

Note 2) Set part number which includes the auto switch mounting band (BMA2-000JCJAS/Stainless steel screw) and the holder kit (BJ4-1/Switch bracket:

White).

For the D-M9JA (V) type auto switch, do not install the switch bracket on the indicator light.

[Stainless Steel Mounting Screw]

The following stainless steel mounting screw kit is available. Use it in accordance with the operating environment.
(Since the auto switch mounting bracket is not included, order it separately.)

BBAS3: D-B5,B6,G5,K5 types

BBA4: D-C7,C80,H7 types

Note 3) Refer to page 1681 for details on the BBA3.

The above stainless steel screws are used when a cylinder is shipped with the D-H7BA/G5BA auto switches.
When only an auto switch is shipped independently, the BBA3 or BBA4 is attached.

a

Switch bracket

Auto switch mounting band

v

Aut%

(1) BJO-1 is a set of “a” and “b”".
BJ4-1 (Switch bracket: White)
BJ5-1 (Switch bracket: Transparent)

(2) BMA2-0JOOA(S) is a set of “c” and “d”.

Band (c) is mounted so that the projected part is on

the internal side (contact side with the tube).

HH =

OIDNDN=
N AN >
N || = ([N || =



CG3 series

Operating Range

(mm)
i Bore size

Auto switch model 20 25 32 40 50 63 80 100
D-M9LI(V)
D-M9IW(V) 45 5.0 4.5 55 5.0 5.5 — —
D-M9JA(V)
D-A9C] 7 6 8 8 8 9 — —
g:g;{;%slocsoc 8 10 9 10 10 1 — —
D-B5C1/B64 8 10 9 10 10 11 11 11
D-B59W 13 13 14 14 14 17 16 18
g-:;ﬁll:%?g),\ 4 4 45 5 6 6.5 — —
D-H7C 7 8.5 9 10 9.5 10.5 — —
D-G5NT 4 4 45 5 6 6.5 6.5 7

= Values which include hysteresis are for guideline purposes only, they are not a guarantee (assuming approximately +30% dispersion) and may change
substantially depending on the ambient environment.

Cylinder Mounting Bracket, by Stroke/Auto Switch Mounting Surfaces

st: Stroke (mm)

Basic, Foot, Flange, Clevis

Auto switch model With 1 pc. With 2 pes. With 2 pcs.
(Rod cover side) | (Different surfaces) | (Same surface)
Auto switch
mounting surface Port side Port side Port side
s
& &
Auto switch model
D-M9I(V)
D-M9IW(V)
D-M9IA(V) 10 st or more 1510 44 st 45 st or more
D-A9]
D-C7/C8 10 st or more 15 to 49 st 50 st or more
D-H7C/H7OW
D-H7BA/H7NF 10 st or more 15 to 59 st 60 st or more
D-C73C/C80C/H7C 10 st or more 15 to 64 st 65 st or more
D-B5/B6/G5/K5
D-G5JW/K59W/G5BA 10 st or more 1510 74 st 75 st or more
D-G59F/G5NT
D-B59W 15 st or more 20 to 74 st 75 st or more
= = e e e e e e e e e e e e -

Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable.
Refer to pages 1575 to 1701 for detailed specifications.

® 376

* With pre-wired connector is also available for solid state auto switches. For details, refer to pages 1648 and 1649.
+ Normally closed (NC = b contact) solid state auto switches (D-M9LIE(V)) are also available. For details, refer to page 1592-1.

1

1

I Type Model Electrical entry Features Applicable bore size
! D-H7A1, H7A2, H7B —

! A D-H7NW, H7PW, H7BW Diagnostic indication (2-color indicator) 220 to 963
1 Solid state -

1 D-H7BA Water resistant (2-color)

1 D-G5NT Grommet (In-line) With timer 220 to 0100
1 D-C73, C76 —

1 Reed D-C80 Without indicator light 02010 063
: D-B53 — 20 to 8100
1



Ak

CG3 series

Specific Product Precautions 1

Be sure to read this before handling the products. Refer to back page 50 for Safety
Instructions and pages 3 to 12 for Actuator and Auto Switch Precautions.

Handling \

Disassembly/Replacement \

[\

@

Fy

W N

Fy

AWarmng

1. Operate the cylinder within the specified cylinder
speed, kinetic energy and lateral load at the rod end.
Otherwise, cylinder and seal damage may occur.

. The allowable kinetic energy is different between the
cylinders with male rod end and with female rod end
due to the different thread sizes. Refer to page 368.

When the cylinder is used as mounted with a single
side fixed or free (basic type, flange type), be careful
not to apply vibration or impact to the cylinder body.
A bending moment will be applied to the cylinder due
to the vibration generated at the stroke end, and the
cylinder may be damaged. In such a case, mount a
bracket to reduce the vibration of the cylinder or use
the cylinder at a piston speed low enough to prevent
the cylinder from vibrating at the stroke end.
Furthermore, when the cylinder is moved or mount-
ed horizontally and with a single side fixed, use a
bracket to fix the cylinder.

. When female rod end is used, use a washer, etc. to
prevent the contact part at the rod end from being
deformed depending on the material of the work
piece.

ACautlon

. Do not use the air cylinder as an air- hydro cylinder.
This will result in oil leakage and damage the product.

. Use a thin wrench when tightening the piston rod.

. Check the mounting direction of the rod end nut (for
male thread). Refer to Mounting Procedure on page
367 for details.

. There are some changes in the dimensions and the
specifications of this model from the current model.
Please check them when replacing from the current
model. Check the operating conditions and interfer-
ence with workpieces before use.

A Warning

1. Only people who have sufficient knowledge and ex-

perience are allowed to replace seals.

The person who disassembles and reassembles the cylinder is
responsible for the safety of the product. Repeatedly disassem-
bling and reassembling the product may cause wearing or de-
formation of the screws as well as a decline in screw tightening
strength. When reassembling the product, be sure to check the
cover and tubing screws for wear, deformities, or any other ab-
normalities. Operating the product with damaged screws may
result in the cover or tubing coming off during operation, which
could lead to a serious accident. Caution must be taken to avoid
such incidents.

ACautlon

. Do not replace the bushings.
The bushings are press-fit. To replace them, they must be re-
placed together with the cover assembly.

2. To replace a seal, apply grease to the new seal be-

fore installing it.

If the cylinder is put into operation without applying grease to
the seal, it could cause the seal to wear significantly, leading to
premature air leakage.

3. Cylinders with 250 or larger bore sizes cannot be

disassembled.

When disassembling cylinders with bore sizes 820 through
240, grip the double flat part of either the head cover or the rod
cover with a vise and loosen the other side with a wrench or a
monkey wrench, etc., and then remove the cover. When re-
tightening, tighten approximately 2 degrees more than the origi-
nal position. (Cylinders with @50 or larger bore sizes are tight-
ened with a large tightening torque and cannot be disassem-
bled. If disassembly is required, please contact SMC.)

4. When replacing seals, take care not to hurt your

hand or finger on the corners of parts.

376-1

[ IE=IF R IE X IE= R IET)
S| =0 == &=
DI =S||N||O|| -

Eo
D
-

—
=
™

g

MB1

o
>
N

(BN ¥]
(7 BIN "]
N || =



	Air Cylinder Short Type: CG3 Series
	Features
	How to Order
	Specifications, Standard Strokes, Accessories, Mounting Brackets
	Theoretical Output, Weights, Mounting Procedure
	Allowable Kinetic Energy, Allowable Lateral Load at Rod End, Construction
	Dimensions
	Dimensions of Accessories
	Auto Switch Mounting
	Specific Product Precautions

